LIST OF COMMERCIAL PROPERTIES TO BE E-AUCTION ON 22.08.2023 - FARIDABAD ZONE

Sr No	Auction_ Id	Estate	Sector	Active Plots Name	Auction Description	Area	FAR	Reserve Price	EMD Amount
1	79038	Faridabad	82	21P	Kiosk Site (eAuction) (3.05 x 3.05) The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department., Area = 9.3 sqm	9.3	1	3794600	189800
2	79037	Faridabad	82	20P	Kiosk Site (eAuction) (3.05 x 3.05) The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department., Area = 9.3 sqm	9.3	1	3794600	189800
3	79036	Faridabad	82	11P	Kiosk Site (eAuction) (3.05 x 3.05) The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department., Area = 9.3 sqm	9.3	1	3794600	189800
4	79035	Faridabad	82	10P	Kiosk Site (eAuction) (3.05 x 3.05) The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department., Area = 9.3 sqm	9.3	1	3794600	189800
5	79034	Faridabad	82	1P	Kiosk Site (eAuction) (3.05 x 3.05) The Kiosk shall be constructed by the owner in steel structure i.e. With steel columns and steel/galvanizized sheets (Preferably, Thermal Insulated) as per Architectural Controll Drawings to be provided by the Department., Area = 9.3 sqm	9.3	1	3794600	189800
6	79033	Faridabad	62	86P	Booth with storage on FF with basement(eAuction) (8.25 \times 2.87), Area = 23.64 sqm	23.64	2	6061000	303050
7	79032	Faridabad	58TRANN AGAR	151P	Booth Site With Basement(eAuction) (8.25 x 2.87), Area = 23.64 sqm	23.64	2	1962800	98140
8	79031	Faridabad	58TRANN AGAR	150P	Booth Site With Basement(eAuction) (8.25 x 2.87), Area = 23.64 sqm	23.64	2	1962800	98140

9	79030	Faridabad	58TRANN AGAR	135P	Booth Site With Basement(eAuction) (8.25 x 2.87), Area = 23.64 sqm	23.64	2	1962800	98140
10	79029	Faridabad	58TRANN AGAR	134P	Booth Site With Basement(eAuction) (8.25 x 2.86), Area = 23.6 sqm	23.6	2	1959400	97970
11	79028	Faridabad	58TRANN AGAR	113P	Booth Site With Basement(eAuction) (8.25 x 2.87), Area = 23.64 sqm	23.64	2	1962800	98140
12	79027	Faridabad	58TRANN AGAR	112P	Booth Site With Basement(eAuction) (8.25 x 2.87), Area = 23.64 sqm	23.64	2	1962800	98140
13	79026	Faridabad	58TRANN AGAR	91P	Booth Site With Basement(eAuction) (8.25 x 2.87), Area = 23.64 sqm	23.64	2	1962800	98140
14	79025	Faridabad	58TRANN AGAR	90P	Dhaba Site (eAuction) (14.00 x 4.62), Area = 64.61 sqm	64.61	2	5355200	267760
15	79024	Faridabad	58TRANN AGAR	256P	Booth Site Without Basement(eAuction) (14.00 x 4.73), Area = 66.22 sqm	66.22	1.62	5498000	274900
16	79023	Faridabad	58TRANN AGAR	235P	Booth Site Without Basement(eAuction) (14.00 x 4.73), Area = 66.22 sqm	66.22	1.62	5498000	274900
17	79022	Faridabad	58TRANN AGAR	166	Booth Site With Basement(eAuction) (8.25 x 2.86), Area = 23.6 sqm	23.6	2	1959400	97970
18	79021	Faridabad	58TRANN AGAR	82P	Dhaba Site (eAuction) (14.00 x 4.62), Area = 64.61 sqm	64.61	2	5355200	267760
19	79020	Faridabad	48	90P	Booth Site With Basement(eAuction) (8.25 x 2.87), Area = 23.64 sqm	23.64	2	3638900	181945
20	79019	Faridabad	48	80P	Booth Site With Basement(eAuction) (8.25 x 2.87), Area = 23.64 sqm	23.64	2	3638900	181945
21	79018	Faridabad	48	79P	Booth Site With Basement(eAuction) (8.25 x 2.87), Area = 23.64 sqm	23.64	2	3638900	181945
22	79017	Faridabad	48	28P	Booth Site With Basement(eAuction) (8.25 x 2.87), Area = 23.64 sqm	23.64	2	3638900	181945
23	79016	Faridabad	48	101P	Booth Site With Basement(eAuction) (8.25 x 2.87), Area = 23.64 sqm	23.64	2	3638900	181945

24	79015	Faridabad	30	9P	DSS Site with basement (eAuction) (13.75 \times 5.73), Area = 78.79 sqm	78.79	1.56	16904100	845205
25	79014	Faridabad	30	8P	DSS Site with basement (eAuction) (13.75 x 5.73), Area = 78.79 sqm	78.79	1.56	16904100	845205
26	79013	Faridabad	30	22P	DSS Site with basement (eAuction) (13.75 x 5.73), Area = 78.79 sqm	78.79	1.56	16904100	845205
27	79012	Faridabad	18P2	86P	Booth withstorage on FF without basement(eAuction) (8.25×2.86) , Area = 23.6 sqm	23.6	2	4191600	209580
28	79011	Faridabad	18P2	55P	Booth withstorage on FF without basement(eAuction) (8.25×2.86) , Area = 23.6 sqm	23.6	2	4191600	209580
29	79010	Faridabad	18P1	83P	Booth with storage on FF with basement(eAuction) (8.25 \times 2.86), Area = 23.6 sqm	23.6	2	4191600	209580
30	79009	Faridabad	18P1	40P	Booth with storage on FF with basement(eAuction) (8.25 \times 2.86), Area = 23.6 sqm	23.6	2	4191600	209580
31	79008	Faridabad	18P1	28P	Booth with storage on FF with basement(eAuction) (8.25 \times 2.86), Area = 23.6 sqm	23.6	2	4191600	209580
32	79007	Faridabad	15AP2	39P	Kiosk Site (eAuction) (3.69 x 2.05), Area = 7.56 sqm	7.56	1	1227300	61365
33	79006	Faridabad	15AP2	38P	Kiosk Site (eAuction) (3.69 x 2.05), Area = 7.56 sqm	7.56	1	1227300	61365
34	79005	Faridabad	15AP2	30P	Kiosk Site (eAuction) (3.69 x 2.05), Area = 7.56 sqm	7.56	1	1227300	61365
35	79004	Faridabad	15AP2	29P	Kiosk Site (eAuction) (3.69 x 2.05), Area = 7.56 sqm	7.56	1	1227300	61365
36	79003	Faridabad	15AP2	24P	Kiosk Site (eAuction) (3.69 x 2.05), Area = 7.56 sqm	7.56	1	1227300	61365
37	79002	Faridabad	15AP2	6P	Kiosk Site (eAuction) (3.69 x 2.05), Area = 7.56 sqm	7.56	1	1227300	61365
38	79001	Faridabad	79	60P	Booth wit Storage on FF without Basement (8.25 x 2.865), Area = 23.636 sqm	23.636	2	7747900	387400

39	79000	Faridabad	79	54P	Booth wit Storage on FF without Basement (8.25 x 2.865), Area = 23.636 sqm	23.636	2	7747900	387400
40	78999	Faridabad	79	45P	Booth wit Storage on FF without Basement (8.25 x 2.865), Area = 23.636 sqm	23.636	2	7747900	387400
41	78998	Faridabad	79	1P	Booth wit Storage on FF without Basement (8.25 x 2.865), Area = 23.636 sqm	23.636	2	7747900	387400
42	78997	Faridabad	79	153P	DSS With Basement (13.75x5.73), Area = 78.787 sqm	78.787	1.56	20144600	1007300
43	78996	Faridabad	79	138P	DSS With Basement (13.75x5.73), Area = 78.787 sqm	78.787	1.56	20144600	1007300
44	78995	Faridabad	79	137P	DSS With Basement (13.75x5.73), Area = 78.787 sqm	78.787	1.56	20144600	1007300
45	78994	Faridabad	79	118P	DSS With Basement (13.75x5.73), Area = 78.787 sqm	78.787	1.56	20144600	1007300
46	78993	Faridabad	79	101P	DSS With Basement (13.75x5.73), Area = 78.787 sqm	78.787	1.56	20144600	1007300
47	78992	Faridabad	79	92P	DSS With Basement (13.75x5.73), Area = 78.787 sqm	78.787	1.56	20144600	1007300
48	78991	Faridabad	79	53P	DSS With Basement (13.75x5.73), Area = 78.787 sqm	78.787	1.56	20144600	1007300
49	78990	Faridabad	79	46P	DSS With Basement (13.75x5.73), Area = 78.787 sqm	78.787	1.56	20144600	1007300
50	78989	Faridabad	79	117P	Shop-cum-Office (Three Storey with Basement) (22 x 5.73), Area = 126.06 sqm	126.06	3	61983800	3099200
51	78988	Faridabad	79	112P	Shop-cum-Office (Three Storey with Basement) (22 x 5.73), Area = 126.06 sqm	126.06	3	61983800	3099200
52	78987	Faridabad	79	111P	Shop-cum-Office (Three Storey with Basement) (22 x 5.73), Area = 126.06 sqm	126.06	3	61983800	3099200
53	78986	Faridabad	79	102P	Shop-cum-Office (Three Storey with Basement) (22 x 5.73), Area = 126.06 sqm	126.06	3	61983800	3099200

		Note 3	Note 1 Bidders are requested to check final list before bidding. Note 2 EMD is calculated on Reserve Price, the first round of bidding will start from Reserve Price fixed by HSVP. Note 3 The payment terms on these properties will be as per Para No.34(A) of eAuction Policy dated 20.07.2022.						
		Note 2							
		Note 1							
59	78980	Faridabad	79	61P	Shop-cum-Office (Three Storey with Basement) (22 x 5.73), Area = 126.06 sqm	126.06	3	61983800	3099200
58	78981	Faridabad	79	70P	Shop-cum-Office (Three Storey with Basement) (22 x 5.73), Area = 126.06 sqm	126.06	3	61983800	3099200
57	78982	Faridabad	79	71P	Shop-cum-Office (Three Storey with Basement) (22 x 5.73), Area = 126.06 sqm	126.06	3	61983800	3099200
56	78983	Faridabad	79	81P	Shop-cum-Office (Three Storey with Basement) (22 x 5.73), Area = 126.06 sqm	126.06	3	61983800	3099200
55	78984	Faridabad	79	82P	Shop-cum-Office (Three Storey with Basement) (22 x 5.73), Area = 126.06 sqm	126.06	3	61983800	3099200
54	78985	Faridabad	79	91P	Shop-cum-Office (Three Storey with Basement) (22 x 5.73), Area = 126.06 sqm	126.06	3	61983800	3099200